Economics quiz
IMPORTANT: Under each question justify your answers using at least 50 words.
1-Factors of production are
a. the mathematical calculations firms make in determining their optimal production levels.

b. social and political conditions that affect production.

c. the physical relationships between economic inputs and outputs.

d. inputs into the production process.
2-What you give up to obtain an item is called your
a. opportunity cost.

b. explicit cost.

c. true cost.

d. direct cost.

3-Which of the following statements about trade is false?
a. Trade increases competition.

b. With trade, one country wins and one country loses.

c. Bulgaria can benefit, potentially, from trade with any other country.

d. Trade allows people to buy a greater variety of goods and services at lower cost.
4. Which of the following statements about comparative advantage is not true?
a. Comparative advantage is determined by which person or group of persons can produce a

given quantity of a good using the fewest resources.

b. The principle of comparative advantage applies to countries as well as to individuals.

c. Economists use the principle of comparative advantage to emphasize the potential benefits

of free trade.

d. A country may have a comparative advantage in producing a good, even though it lacks an

absolute advantage in producing that good.
5. If a country allows trade and, for a certain good, the domestic price without trade is lower than the world price,
a. the country will be an exporter of the good.

b. the country will be an importer of the good.

c. the country will be neither an exporter nor an importer of the good.

d. Additional information is needed about demand to determine whether the country will be

an exporter of the good, an importer of the good, or neither.
6. Which of the following should be held constant when calculating an income elasticity of demand?
a. the price of the good

b. prices of related goods

c. tastes

d. All of the above should be held constant.
7. A price floor
a. is a legal minimum on the price at which a good can be sold.

b. can result when sellers of a good are successful in their attempts to convince the

government that the market outcome without a price floor is unfair to them.

c. can create inequities in a market.

d. All of the above are correct.
8. The marginal product of any input
a. is the increase in total cost associated with a one-unit increase in production.

b. is the change in total output associated with a $1.00 increase in total cost.

c. is the increase in total cost resulting from the hiring of an additional worker.

d. is the increase in total output obtained from one additional unit of that input.
9. Which of the following must always be true as the quantity of output increases?
a. Marginal cost must rise.

b. Average total cost must rise.

c. Average variable cost must rise.

d. Average fixed cost must fall
10. A market is competitive if
(i) firms have the flexibility to price their own product.

(ii) each buyer is small compared to the market.

(iii) each seller is small compared to the market.
a. (i) and (ii) only

b. (i) and (iii) only

c. (ii) and (iii) only

d. All of the above are correct.
11. Government purchases include spending on goods and services by
a. the federal government only.

b. state and federal governments only.

c. local, state and federal governments.

d. local, state and federal governments, as well household spending by employees of those

governments.
12. A Minnesota farmer buys a new tractor made in Iowa by a German company. As a result,
a. U.S. investment and GDP increase, but German GDP is unaffected.

b. U.S. investment and German GDP increase, but U.S. GDP is unaffected.

c. U.S. investment, U.S. GDP, and German GDP are unaffected, because tractors are

intermediate goods.

d. U.S. investment, U.S. GDP, and German GDP all increase.
13. To calculate the CPI, the Bureau of Labor Statistics uses
a. all prices of all goods and services produced domestically.

b. the prices of all final goods and services.

c. the prices of all consumer goods.

d. the prices of some consumer goods.
14. Suppose the nominal interest rate was 5 percent and the inflation rate was 3.5 percent.
a. The dollar value of savings increased at 1.5 percent, and the value of savings measured in

goods increased at 3.5 percent.

b. The dollar value of savings increased at 3.5 percent, and the value of savings measured in

goods increased at 1.5 percent.

c. The dollar value of savings increased at 3.5 percent, and the value of savings measured in

goods increased at 5 percent.

d. The dollar value of savings increased at 5 percent, and the value of savings measured in

goods increased at 1.5 percent.
15. In a closed economy, what does (T - G) represent?
a. national saving

b. investment

c. private saving

d. public saving
16. If the tax revenue of the federal government exceeds spending, then the government necessarily
a. runs a budget deficit.

b. runs a budget surplus.

c. runs a national debt.

d. will increase taxes.
17. Money
a. is more efficient than barter.

b. makes trades easier.

c. allows greater specialization.

d. All of the above are correct.

18. The Federal Reserve does all except which of the following?
a. control the supply of money

b. control the value of money

c. make loans to individuals

d. regulate the banking system
19. If the price index in some country were falling over time, economists would say that country had
a. disinflation.

b. deflation.

c. a contraction.

d. an inverted inflation.
20. Which of the following is correct?
a. Unemployment insurance raises structural unemployment because it reduces the job

search efforts of the unemployed.

b. Most economists are skeptical of the value of unemployment insurance primarily because

they believe that it results in a poorer match between workers and jobs.

c. Studies show that when the unemployed become ineligible for benefits, the probability of

their finding a job rises markedly.

d. All of the above are correct.

